



---

## NEW REFINEMENTS FOR INTEGRAL AND SUM FORMS OF GENERALIZED HÖLDER INEQUALITY FOR N TERM

MUHAMMAD JAKFAR, MANUHARAWATI\*, DIAN SAVITRI

*Received 29 November, 2021; accepted 29 November, 2022; published 16 December, 2022.*

MATHEMATICS DEPARTMENT, UNIVERSITAS NEGERI SURABAYA, JALAN KETINTANG  
GEDUNG C8, SURABAYA, 60321, INDONESIA.

muhammadjakfar@unesa.ac.id  
manuharawati@unesa.ac.id\*  
diansavitri@unesa.ac.id

**ABSTRACT.** We know that in the field of functional analysis, Hölder inequality is very well known, important, and very applicable. So many researchers are interested in discussing these inequalities. Many world mathematicians try to improve these inequalities. In general, the Hölder inequality has two forms, namely the integral form and the sum form. In this paper, we will introduce a new refinement of the generalization of Hölder inequalities in both integral and addition forms. Especially in the sum form, improvements will be introduced that are better than the previous improvements that have been published by Jing-feng Tian, Ming-hu Ha, and Chao Wang.

*Key words and phrases:* Hölder inequality.

*2010 Mathematics Subject Classification.* Primary 58E35. Secondary 46B25.

## 1. INTRODUCTION

The classical Hölder's inequalities are usually defined as follows.

**Theorem 1.1.** (Hölder's inequality for integrals [1]) Let  $p > 1$  and  $\frac{1}{p} + \frac{1}{q} = 1$ . If  $f$  and  $g$  are real functions defined on  $[u, v]$  such that  $|f|^p$  and  $|g|^q$  are integrable functions on  $[u, v]$ , then

$$\int_u^v |f(x)g(x)|dx \leq \left( \int_u^v |f(x)|^p dx \right)^{\frac{1}{p}} \left( \int_u^v |g(x)|^q dx \right)^{\frac{1}{q}} \quad (1.1)$$

with equality if and only if  $a|f(x)|^p = b|g(x)|^q$  almost everywhere for some real numbers  $a$  and  $b$  (not both of them zero).

**Theorem 1.2.** (Hölder's inequality for sums [1]) Let  $u = (u_1, \dots, u_m)$  and  $v = (v_1, \dots, v_m)$  be two positive  $n$ -tuples, and let  $p, q > 0$  and  $\frac{1}{p} + \frac{1}{q} = 1$ . Then we have

$$\sum_{n=1}^m |u_n v_n| \leq \left( \sum_{n=1}^m |u_n|^p \right)^{\frac{1}{p}} \left( \sum_{n=1}^m |v_n|^q \right)^{\frac{1}{q}} \quad (1.2)$$

with equality if and only if  $a|u_n|^p = b|v_n|^q$  for some real numbers  $a$  and  $b$  (not both of them zero).

By utilizing the generalization of Young's inequality for  $n$  numbers [2], mathematicians obtain the Generalized Hölder's Inequality for  $n$  terms.

**Theorem 1.3.** (Generalized Hölder's inequality for integrals and  $n$  term [2]) Let  $p_i > 1$  and  $\sum_{i=1}^n \frac{1}{p_i} = 1$ . If  $f_i$  are real functions defined on  $[u, v]$  such that  $|f_i|^{p_i}$  are integrable functions on  $[u, v]$ , then

$$\int_u^v \left| \prod_{i=1}^n f_i(x) \right| dx \leq \prod_{i=1}^n \left( \int_u^v |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} \quad (1.3)$$

with equality if and only if there exist real numbers  $a$  and  $b$  (not both of them zero) such that  $a|f_i(x)|^{p_i} = b|f_j(x)|^{p_j}$  almost everywhere for  $i \neq j$ .

**Theorem 1.4.** (Generalized Hölder's inequality for sums and  $n$  term [2]) Let  $u_i = (u_{i_1}, \dots, u_{i_m})$  be a  $n$ -tuples for every  $i \in \{1, \dots, n\}$ , and let  $p_i > 1$  and  $\sum_{i=1}^n \frac{1}{p_i} = 1$ . Then we have

$$\sum_{k=1}^m \left| \prod_{i=1}^n u_{i_k} \right| \leq \prod_{i=1}^n \left( \sum_{k=1}^m |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} \quad (1.4)$$

with equality if and only if there exist real numbers  $a$  and  $b$  (not both of them zero) such that  $a|u_{i_n}|^{p_i} = b|u_{j_n}|^{p_j}$  for  $i \neq j$ .

Of course, the Hölder's inequality has been extensively explored and tested to a new situation by a number of scientists. Many its generalizations and refinements have been obtained so far. See, for example, [3], [4], [5], [6], [7], [8], [9], [10], [11], [12], and [13] and the references therein. In this paper, we obtain some new refinements for integral and sum forms of Generalized Hölder's Inequality for  $n$  terms, and these refinements are better than before, especially the ones that Jing-feng Tian, Ming-hu Ha, and Chao Wang has published [11].

## 2. RESULT

### 2.1. Refined Generalized Hölder's Inequality for integral form.

**Theorem 2.1.** Let  $p_i > 1$  and  $\sum_{i=1}^n \frac{1}{p_i} = 1$ . If  $f_i$  are real functions defined on  $[u, v]$  such that  $|f_i|^{p_i}$  are integrable functions on  $[u, v]$ , then

$$\int_u^v \left| \prod_{i=1}^n f_i(x) \right| dx \leq \frac{1}{v-u} \left[ \prod_{i=1}^n \left( \int_u^v (v-x) |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} + \prod_{i=1}^n \left( \int_u^v (x-u) |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} \right] \tag{2.1}$$

and

$$\frac{1}{v-u} \left[ \prod_{i=1}^n \left( \int_u^v (v-x) |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} + \prod_{i=1}^n \left( \int_u^v (x-u) |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} \right] \leq \prod_{i=1}^n \left( \int_u^v |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} \tag{2.2}$$

with equality if and only if there exist real numbers  $a$  and  $b$  (not both of them zero) such that  $a|f_i(x)|^{p_i} = b|f_j(x)|^{p_j}$  almost everywhere for  $i \neq j$ .

*Proof.* Using the Generalized Hölders’s Inequality (1.3), we easily see that

$$\begin{aligned} \int_u^v \left| \prod_{i=1}^n f_i(x) \right| dx &= \frac{1}{v-u} \int_u^v (v-x+x-u) \left| \prod_{i=1}^n f_i(x) \right| dx \\ &= \frac{1}{v-u} \left( \int_u^v (v-x) \left| \prod_{i=1}^n f_i(x) \right| dx + \int_u^v (x-u) \left| \prod_{i=1}^n f_i(x) \right| dx \right) \\ &= \frac{1}{v-u} \left( \int_u^v \left| \left( \prod_{i=1}^n (v-x)^{1/p_i} \right) \left( \prod_{i=1}^n f_i(x) \right) \right| dx \right. \\ &\quad \left. + \int_u^v \left| \left( \prod_{i=1}^n (x-u)^{1/p_i} \right) \left( \prod_{i=1}^n f_i(x) \right) \right| dx \right) \\ &= \frac{1}{v-u} \left( \int_u^v \left| \left( \prod_{i=1}^n (v-x)^{\frac{1}{p_i}} |f_i(x)| \right) \right| dx + \int_u^v \left| \left( \prod_{i=1}^n (x-u)^{\frac{1}{p_i}} |f_i(x)| \right) \right| dx \right) \\ &\leq \frac{1}{v-u} \left( \prod_{i=1}^n \left( \int_u^v (v-x) |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} + \prod_{i=1}^n \left( \int_u^v (x-u) |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} \right) \end{aligned}$$

First, Let us consider the case

$$\prod_{i=1}^n \left( \int_u^v |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} = 0$$

Then there is  $i_0$  such that  $f_{i_0}(x) = 0$  for almost every  $x \in [u, v]$ .

Thus we have

$$\int_u^v \left| \prod_{i=1}^n f_i(x) \right| dx = 0$$

Therefore inequality is trivial in this case.

Finally, we consider the case

$$I = \prod_{i=1}^n \left( \int_u^v |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} \neq 0$$

Then using generalized Young’s inequality we get

$$\frac{1}{(v-u)I} \left( \prod_{i=1}^n \left( \int_u^v (v-x) |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} + \prod_{i=1}^n \left( \int_u^v (x-u) |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} \right)$$

$$\begin{aligned}
&= \frac{1}{(v-u)} \left( \prod_{i=1}^n \left( \frac{\int_u^v (v-x)|f_i(x)|^{p_i} dx}{\int_u^v |f_i(x)|^{p_i} dx} \right)^{\frac{1}{p_i}} + \prod_{i=1}^n \left( \frac{\int_u^v (x-u)|f_i(x)|^{p_i} dx}{\int_u^v |f_i(x)|^{p_i} dx} \right)^{\frac{1}{p_i}} \right) \\
&\leq \frac{1}{(v-u)} \left( \sum_{i=1}^n \left( \frac{\int_u^v (v-x)|f_i(x)|^{p_i} dx}{p_i \int_u^v |f_i(x)|^{p_i} dx} \right) + \sum_{i=1}^n \left( \frac{\int_u^v (x-u)|f_i(x)|^{p_i} dx}{p_i \int_u^v |f_i(x)|^{p_i} dx} \right) \right) \\
&= \frac{1}{(v-u)} \left( \sum_{i=1}^n \left( \frac{\int_u^v (v-x)|f_i(x)|^{p_i} dx + \int_u^v (x-u)|f_i(x)|^{p_i} dx}{p_i \int_u^v |f_i(x)|^{p_i} dx} \right) \right) \\
&= \sum_{i=1}^n \frac{1}{p_i} \\
&= 1.
\end{aligned}$$

This completes the proof. ■

More general versions of Theorem 2.1 are given in the following:

**Theorem 2.2.** Let  $p_i > 1$  and  $\sum_{i=1}^n \frac{1}{p_i} = 1$ . If  $f_i$  are real functions defined on  $[u, v]$  such that  $|f_i|^{p_i}$  are integrable functions on  $[u, v]$ , then

$$\int_u^v \left| \prod_{i=1}^n f_i(x) \right| dx \leq \prod_{i=1}^n \left( \int_u^v \alpha(x) |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} + \prod_{i=1}^n \left( \int_u^v \beta(x) |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} \quad (2.3)$$

where  $\alpha, \beta : [u, v] \rightarrow [0, \infty)$  are continuous functions such that  $\alpha(x) + \beta(x) = 1$ ,  $x \in [u, v]$ .

*Proof.* The proof of the theorem is easily seen by using a similar method as in the proof of Theorem 2.1. ■

More general versions of Theorem 2.2 are given in the following:

**Theorem 2.3.** Let  $p_i > 1$  and  $\sum_{i=1}^n \frac{1}{p_i} = 1$ . If  $f_i$  are real functions defined on  $[u, v]$  such that  $|f_i|^{p_i}$  are integrable functions on  $[u, v]$ , then

$$\int_u^v \left| \prod_{i=1}^n f_i(x) \right| dx \leq \sum_{k=1}^m \left[ \prod_{i=1}^n \left( \int_u^v \alpha_k(x) |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} \right] \leq \prod_{i=1}^n \left( \int_u^v |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} \quad (2.4)$$

where  $\alpha_k : [u, v] \rightarrow [0, \infty)$  are continuous functions such that  $\sum_{k=1}^m \alpha_k(x) = 1$ ,  $x \in [u, v]$ .

*Proof.* The proof of the theorem is easily seen by using a similar method as in the proof of Theorem 2.1. Using the Generalized Hölders's Inequality (1.3), we easily see that

$$\begin{aligned}
 \int_u^v \left| \prod_{i=1}^n f_i(x) \right| dx &= \int_u^v \left( \sum_{k=1}^m \alpha_k(x) \right) \left| \prod_{i=1}^n f_i(x) \right| dx \\
 &= \sum_{k=1}^m \int_u^v (\alpha_k(x)) \left| \prod_{i=1}^n f_i(x) \right| dx \\
 &= \sum_{k=1}^m \int_u^v |(\alpha_k(x)) \prod_{i=1}^n f_i(x)| dx \\
 &= \sum_{k=1}^m \int_u^v \left| \left( \prod_{i=1}^n (\alpha_k(x))^{\frac{1}{p_i}} \right) \left( \prod_{i=1}^n f_i(x) \right) \right| dx \\
 &= \sum_{k=1}^m \int_u^v \left| \left( \prod_{i=1}^n (\alpha_k(x))^{\frac{1}{p_i}} f_i(x) \right) \right| dx \\
 &\leq \sum_{k=1}^m \left[ \prod_{i=1}^n \left( \int_u^v \alpha_k(x) |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} \right]
 \end{aligned}$$

First, Let us consider the case

$$\prod_{i=1}^n \left( \int_u^v |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} = 0$$

Then there is  $i_0$  such that  $f_{i_0}(x) = 0$  for almost every  $x \in [u, v]$ .

Thus we have

$$\int_u^v \left| \prod_{i=1}^n f_i(x) \right| dx = 0$$

Therefore inequality is trivial in this case.

Finally, we consider the case

$$I = \prod_{i=1}^n \left( \int_u^v |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} \neq 0$$

Then using generalized Young's inequality we get

$$\begin{aligned}
 \frac{1}{I} \sum_{k=1}^m \left[ \prod_{i=1}^n \left( \int_u^v \alpha_k(x) |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} \right] &= \sum_{k=1}^m \left[ \prod_{i=1}^n \left( \frac{\int_u^v \alpha_k(x) |f_i(x)|^{p_i} dx}{\int_u^v |f_i(x)|^{p_i} dx} \right)^{\frac{1}{p_i}} \right] \\
 &\leq \sum_{k=1}^m \left[ \sum_{i=1}^n \left( \frac{\int_u^v \alpha_k(x) |f_i(x)|^{p_i} dx}{p_i \int_u^v |f_i(x)|^{p_i} dx} \right) \right] \\
 &= \sum_{i=1}^n \left[ \sum_{k=1}^m \left( \frac{\int_u^v \alpha_k(x) |f_i(x)|^{p_i} dx}{p_i \int_u^v |f_i(x)|^{p_i} dx} \right) \right] \\
 &= \sum_{i=1}^n \left[ \frac{\sum_{k=1}^m \left( \int_u^v \alpha_k(x) |f_i(x)|^{p_i} dx \right)}{p_i \int_u^v |f_i(x)|^{p_i} dx} \right] \\
 &= \sum_{i=1}^n \frac{1}{p_i} \\
 &= 1.
 \end{aligned}$$

This completes the proof. ■

**Remark 2.1.** We easily see that the inequalities obtained in Theorem 2.2 are better than inequality (1.3).

**Remark 2.2.** Let  $k \in \{1, 2, 3, \dots, m\}$ . By taking

$$\alpha_k(x) \begin{cases} \prod_{k=1}^{m-1} \sin^2 x, & \text{If } x = m \\ \cos^2 x \prod_{k=1}^{m-1} \sin^2 x, & \text{If } 1 < x < m \\ \cos^2 x, & \text{If } x = 1 \end{cases},$$

we have

$$\begin{aligned} \int_u^v \left| \prod_{i=1}^n f_i(x) \right| dx &\leq \prod_{i=1}^n \left( \int_u^v \cos^2 x |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} \\ &+ \sum_{k=2}^{m-1} \left( \prod_{i=1}^n \left( \int_u^v \left( \cos^2 x \prod_{k=1}^{m-1} \sin^2 x \right) |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}} \right) \\ &+ \prod_{i=1}^n \left( \int_u^v \left( \prod_{k=1}^{m-1} \sin^2 x \right) |f_i(x)|^{p_i} dx \right)^{\frac{1}{p_i}}. \end{aligned}$$

**2.2. Refined Generalized Hölder's Inequality for sums form.** There is a refinement of Generalized Hölder's inequality introduced by Jing-feng Tian, Ming-hu Ha, and Chao Wang in [11] as follows.

Let  $u_i = (u_{i_1}, \dots, u_{i_m})$  be a  $n$ -tuples for every  $i \in 1, \dots, n$ , let  $s$  be any given natural number ( $1 \leq n \leq m$ ), and let  $p_i > 1$  and  $\sum_{i=1}^n \frac{1}{p_i} = 1$ . Then we have

$$\sum_{k=1}^m \left| \prod_{i=1}^n u_{i_k} \right| \leq \left[ \prod_{i=1}^n \left( \sum_{k=1}^m |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} \right] \left[ \prod_{i=1}^n \left( 1 - \left( \frac{|u_{i_s}|^{p_i}}{\sum_{j=1}^m |u_{i_j}|^{p_i}} - \frac{|u_{(i+1)_s}|^{p_{i+1}}}{\sum_{j=1}^m |u_{(i+1)_j}|^{p_{i+1}}} \right)^2 \right)^{\frac{1}{2p_i}} \right] \quad (2.5)$$

Now, we will introduce another refinement of the generalization of the Hölder inequality.

**Theorem 2.4.** Let  $u_i = (u_{i_1}, \dots, u_{i_m})$  be a  $n$ -tuples for every  $i \in \{1, \dots, n\}$ , let  $s$  be any given natural number ( $1 \leq n \leq m$ ), and let  $p_i > 1$  and  $\sum_{i=1}^n \frac{1}{p_i} = 1$ . Then we have

(i)

$$\begin{aligned} \sum_{k=1}^m \left| \prod_{i=1}^n u_{i_k} \right| &\leq \frac{1}{m} \left( \left[ \prod_{i=1}^n \left( \sum_{k=1}^m k |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} + \prod_{i=1}^n \left( \sum_{k=1}^m (m-k) |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} \right] \right. \\ &\left. \left[ \prod_{i=1}^n \left( 1 - \left( \frac{|u_{i_s}|^{p_i}}{\sum_{j=1}^m |u_{i_j}|^{p_i}} - \frac{|u_{(i+1)_s}|^{p_{i+1}}}{\sum_{j=1}^m |u_{(i+1)_j}|^{p_{i+1}}} \right)^2 \right)^{\frac{1}{2p_i}} \right] \right) \end{aligned} \quad (2.6)$$

(ii)

$$\begin{aligned} &\frac{1}{m} \left( \left[ \prod_{i=1}^n \left( \sum_{k=1}^m k |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} + \prod_{i=1}^n \left( \sum_{k=1}^m (m-k) |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} \right] \right. \\ &\left. \left[ \prod_{i=1}^n \left( 1 - \left( \frac{|u_{i_s}|^{p_i}}{\sum_{j=1}^m |u_{i_j}|^{p_i}} - \frac{|u_{(i+1)_s}|^{p_{i+1}}}{\sum_{j=1}^m |u_{(i+1)_j}|^{p_{i+1}}} \right)^2 \right)^{\frac{1}{2p_i}} \right] \right] \leq \left[ \prod_{i=1}^n \left( \sum_{k=1}^m |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} \right] \\ &\left[ \prod_{i=1}^n \left( 1 - \left( \frac{|u_{i_s}|^{p_i}}{\sum_{j=1}^m |u_{i_j}|^{p_i}} - \frac{|u_{(i+1)_s}|^{p_{i+1}}}{\sum_{j=1}^m |u_{(i+1)_j}|^{p_{i+1}}} \right)^2 \right)^{\frac{1}{2p_i}} \right] \end{aligned} \quad (2.7)$$

(iii)

$$\frac{1}{m} \left( \prod_{i=1}^n \left( \sum_{k=1}^m k |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} + \prod_{i=1}^n \left( \sum_{k=1}^m (m-k) |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} \right) \left[ \prod_{i=1}^n \left( 1 - \left( \frac{|u_{i_s}|^{p_i}}{\sum_{j=1}^m |u_{i_j}|^{p_i}} - \frac{|u_{(i+1)_s}|^{p_{i+1}}}{\sum_{j=1}^m |u_{(i+1)_j}|^{p_{i+1}}} \right)^2 \right)^{\frac{1}{2p_i}} \right] \leq \left[ \prod_{i=1}^n \left( \sum_{k=1}^m |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} \right] \tag{2.8}$$

*Proof.* (i) Using the refinement of Generalized Hölder’s inequality (2.5), we see that

$$\begin{aligned} \sum_{k=1}^m \left| \prod_{i=1}^n u_{i_k} \right| &= \sum_{k=1}^m \left( \frac{k}{m} + \frac{m-k}{m} \right) \left| \prod_{i=1}^n u_{i_k} \right| \\ &= \frac{1}{m} \left[ \sum_{k=1}^m k \left| \prod_{i=1}^n u_{i_k} \right| + \sum_{k=1}^m (m-k) \left| \prod_{i=1}^n u_{i_k} \right| \right] \\ &= \frac{1}{m} \left[ \sum_{k=1}^m \left| \prod_{i=1}^n k^{\frac{1}{p_i}} u_{i_k} \right| + \sum_{k=1}^m (m-k) \left| \prod_{i=1}^n (m-k)^{\frac{1}{p_i}} u_{i_k} \right| \right] \\ &\leq \frac{1}{m} \left( \left[ \prod_{i=1}^n \left( \sum_{k=1}^m k |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} + \prod_{i=1}^n \left( \sum_{k=1}^m (m-k) |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} \right] \right. \\ &\quad \left. \left[ \prod_{i=1}^n \left( 1 - \left( \frac{|u_{i_s}|^{p_i}}{\sum_{j=1}^m |u_{i_j}|^{p_i}} - \frac{|u_{(i+1)_s}|^{p_{i+1}}}{\sum_{j=1}^m |u_{(i+1)_j}|^{p_{i+1}}} \right)^2 \right)^{\frac{1}{2p_i}} \right] \right) \end{aligned}$$

(ii) Let us first consider the case

$$\prod_{i=1}^n \left( \sum_{k=1}^m |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} = 0$$

Then  $u_{i_k} = 0$  for  $k = 1, 2, 3, \dots, n$ .

Finally, we consider the case

$$S = \prod_{i=1}^n \left( \sum_{k=1}^m |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} \neq 0$$

Then

$$\begin{aligned} &\frac{1}{mS} \left( \prod_{i=1}^n \left( \sum_{k=1}^m k |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} + \prod_{i=1}^n \left( \sum_{k=1}^m (m-k) |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} \right) \\ &= \frac{1}{m} \left( \prod_{i=1}^n \left( \frac{\sum_{k=1}^m k |u_{i_k}|^{p_i}}{\sum_{k=1}^m |u_{i_k}|^{p_i}} \right)^{\frac{1}{p_i}} + \prod_{i=1}^n \left( \frac{\sum_{k=1}^m (m-k) |u_{i_k}|^{p_i}}{\sum_{k=1}^m |u_{i_k}|^{p_i}} \right)^{\frac{1}{p_i}} \right) \\ &\leq \frac{1}{m} \left( \sum_{i=1}^n \left( \frac{\sum_{k=1}^m k |u_{i_k}|^{p_i}}{p_i \sum_{k=1}^m |u_{i_k}|^{p_i}} \right) + \sum_{i=1}^n \left( \frac{\sum_{k=1}^m (m-k) |u_{i_k}|^{p_i}}{p_i \sum_{k=1}^m |u_{i_k}|^{p_i}} \right) \right) \\ &= \sum_{i=1}^n \frac{1}{p_i} \\ &= 1. \end{aligned}$$

Thus we get

$$\frac{1}{m} \left( \prod_{i=1}^n \left( \sum_{k=1}^m k |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} + \prod_{i=1}^n \left( \sum_{k=1}^m (m-k) |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} \right) T \leq \left[ \prod_{i=1}^n \left( \sum_{k=1}^m |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} \right] T$$

with

$$T = \left[ \prod_{i=1}^n \left( 1 - \left( \frac{|u_{i_s}|^{p_i}}{\sum_{j=1}^m |u_{i_j}|^{p_i}} - \frac{|u_{(i+1)_s}|^{p_{i+1}}}{\sum_{j=1}^m |u_{(i+1)_j}|^{p_{i+1}}} \right)^2 \right)^{\frac{1}{2p_i}} \right]$$

(iii) Base on the inequality point (ii) and the fact that

$$\left[ \prod_{i=1}^n \left( 1 - \left( \frac{|u_{i_s}|^{p_i}}{\sum_{j=1}^m |u_{i_j}|^{p_i}} - \frac{|u_{(i+1)_s}|^{p_{i+1}}}{\sum_{j=1}^m |u_{(i+1)_j}|^{p_{i+1}}} \right)^2 \right)^{\frac{1}{2p_i}} \right] < 1,$$

we directly have

$$\frac{1}{m} \left( \left[ \prod_{i=1}^n \left( \sum_{k=1}^m k |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} + \prod_{i=1}^n \left( \sum_{k=1}^m (m-k) |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} \right] \right. \\ \left. \left[ \prod_{i=1}^n \left( 1 - \left( \frac{|u_{i_s}|^{p_i}}{\sum_{j=1}^m |u_{i_j}|^{p_i}} - \frac{|u_{(i+1)_s}|^{p_{i+1}}}{\sum_{j=1}^m |u_{(i+1)_j}|^{p_{i+1}}} \right)^2 \right)^{\frac{1}{2p_i}} \right] \right] \leq \left[ \prod_{i=1}^n \left( \sum_{k=1}^m |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} \right]$$

■

**Remark 2.3.** In Theorem 2.4, the Inequality 2.7 and 2.8 shows that Inequality 2.6 is better than Inequality 2.5 and 1.4.

More general versions of Theorem 2.4 are given in the following:

**Theorem 2.5.** Let  $u_i = (u_{i_1}, \dots, u_{i_m})$  be  $n$ -tuples for every  $i \in \{1, \dots, n\}$ , and let  $p_i > 1$  and  $\sum_{i=1}^n \frac{1}{p_i} = 1$ . If  $c = (c_1, \dots, c_m)$  and  $d = (d_1, \dots, d_n)$  be two  $n$ -tuples such that  $c_k + d_k = 1$  for  $k = 1, 2, 3, \dots, m$ , then

$$\sum_{k=1}^m \left| \prod_{i=1}^n u_{i_k} \right| \leq \left[ \prod_{i=1}^n \left( \sum_{k=1}^m |c_k| |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} + \prod_{i=1}^n \left( \sum_{k=1}^m |d_k| |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} \right] \\ \left[ \prod_{i=1}^n \left( 1 - \left( \frac{|u_{i_s}|^{p_i}}{\sum_{j=1}^m |u_{i_j}|^{p_i}} - \frac{|u_{(i+1)_s}|^{p_{i+1}}}{\sum_{j=1}^m |u_{(i+1)_j}|^{p_{i+1}}} \right)^2 \right)^{\frac{1}{2p_i}} \right]$$

**Theorem 2.6.** Let  $u_i = (u_{i_1}, \dots, u_{i_m})$  be  $n$ -tuples for every  $i \in \{1, \dots, n\}$ , and let  $p_i > 1$  and  $\sum_{i=1}^n \frac{1}{p_i} = 1$ . If  $c_j = (c_{j_1}, \dots, c_{j_m})$  be  $n$ -tuples for every  $j \in \{1, \dots, r\}$  such that  $\sum_{j=1}^r c_{j_k} = 1$  for  $k = 1, 2, 3, \dots, m$ , then

$$\sum_{k=1}^m \left| \prod_{i=1}^n u_{i_k} \right| \leq \left[ \sum_{k=1}^r \left( \prod_{i=1}^n \left( \sum_{k=1}^m |c_{j_k}| |u_{i_k}|^{p_i} \right)^{\frac{1}{p_i}} \right) \right] \\ \left[ \prod_{i=1}^n \left( 1 - \left( \frac{|u_{i_s}|^{p_i}}{\sum_{j=1}^m |u_{i_j}|^{p_i}} - \frac{|u_{(i+1)_s}|^{p_{i+1}}}{\sum_{j=1}^m |u_{(i+1)_j}|^{p_{i+1}}} \right)^2 \right)^{\frac{1}{2p_i}} \right]$$

*Proof.* The proof of the Theorem 2.5 and 2.6 are easily seen by using a similar method as in the proof of Theorem 2.4. ■

**Remark 2.4.** We easily see that the inequalities obtained in Theorem 2.5 and Theorem 2.6 are better than Inequality (1.4).

### 3. CONCLUDING REMARKS

We have have successfully constructed several new refinements of the generalization of Hölder inequalities in both integral and addition forms. Especially in the sum form, our improvements are better than the previous ones that have been published by Jing-feng Tian, Ming-hu Ha, and Chao Wang.



## REFERENCES

- [1] D. S. MITRINOVIC, J. E. PECARIC and A. M. FINK, *Classical and New Inequalities in Analysis*, Kluwer Academic Publisher, Dordrecht, 1993.
- [2] K. NANTOMAH, Generalized Hölder's and Minkowski's Inequalities for Jackson's  $q$ -Integral and Some Applications to the Incomplete  $q$ -Gamma Function, *Abstr. Appl. Anal.*, **2017** (2017), Article ID 9796873, pp. 1-6, <https://doi.org/10.1155/2017/9796873>
- [3] H. AGAHI and M. YADOLLAHZADEH, Refinements of Hölder's and Minkowski's Type Inequalities for Measures and Pseudo-expectation, *Soft Comput.*, **22** (2018), No. 24, pp. 8051-8058.
- [4] E. F. BECKENBACH and R. BELLMAN, *Inequalities*. Springer, Berlin, 1961.
- [5] G. H. HARDY, J. E. LITTLEWOOD and G. POLYA, *Inequalities*, Cambridge University Press, Cambridge, 1952.
- [6] Y.I. KIM and X. YANG, Generalizations and Refinements of Hölder's Inequality, *Appl. Math. Lett.*, **25** (2012), No. 7, pp. 1094-1097
- [7] E. G. KWON and J. E. BAE, On a Refined Hölder's Inequality, *J. Math. Inequal.*, **10** (2016), No. 1, pp. 261-268.
- [8] H. QIANG and Z. HU, Generalizations of Hölder's and Some Related Inequalities, *Comput. Math. Appl.*, **61** (2011), No. 2, pp. 511-525.
- [9] J. F. TIAN and M. H. HA, Properties of Generalized Sharp Hölder's Inequalities, *J. Math. Inequal.*, **11** (2017), No. 2, pp. 261-268
- [10] J. F. TIAN and M. H. HA, Extensions of Hölder's Inequality via Pseudo-integral, *Math. Probl. Eng.*, **2018** (2018), Article ID 4080619, pp. 1-5, <https://doi.org/10.1155/2018/4080619>
- [11] J. F. TIAN, M. H. HA and C. WANG, Improvements of Generalized Hölder's Inequalities and Their Applications, *J. Math. Inequal.*, **12** (2018), No. 2, pp. 459-471.
- [12] S. H. WU, Generalization of a Sharp Hölder's Inequality and Its Application, *J. Math. Anal. Appl.*, **332** (2007), No. 1, pp. 741-750.
- [13] L. CIURDARIU and S. LUGOJAN, Several Applications of a Local Non-convex Young-type Inequality, *Aus. J. Math. Anal. Appl.*, **17** (2020), No. 1, pp. 1-8.